YQ22D-ZB2-J




‘ Warm prompt

Make sure children, pets, etc. away from the desk during operation. Please
unplug the power when thunderstreak and not use for along time

Make sure the desktop is not touching any walls.

Make sure no obstacle are in the desk’s path. hen operation, no more than
500mm (19.7”) obstacle under desktop.

Working environment temperature 0-40°C, keep products away from
etchant gas, liquid and dusty objects.

o\ /N /N JN J

> B> BBk P

Strictly forbid to disassemble the product without permission, to prevent the
failure of the product and harm to human body caused by electronic products.
/
\
The product has anti-collision function, but to avoid the unnecessary damage
to human body, make sure your hand and other body parts in a safe position
whenoperation. Not be activated when reset )

Before using this product, please read carefully the relevant operate instructions.
We are not in responsibility for the damage of product or harm to human body
caused by any abnormal operations.

® @

A S A U A S A A S A

First use or after power outage, need to reset then process other relevant
operations.




" ) PARTS DIANGRAM

a N N - ~
150 20 A1
mn| | OO0 | Ol T
Installation ti Installation Installation tools
arafonme personne | (self-provided)




" ) INSTALLATION GUIDE

(

COMPONENTS

@

-

G

A=

Side bracket 2PCS

Feet 2PCS

Column 2PCS

Frame A 1PCS

®

—

@

ﬁ@

Center Rail 2PCS

Handset 1PCS

Adapter 1PCS

—

W)
E@Eﬂﬂﬂzﬁztm%

@

Ee Jm————m

Adapter fixator

1PCS

Desktop 1PCS

Power cord 1PCS

Connecting cable
1PCS

[ SCREWS AND TOOLS |

®

®

©
N—

= =

M6X10 Machine M6X14 Machine M6X35 Machine ST5X20 Wood ST5X16 Wood M4 Wrench Cable clip 10PCS

Screw 16PCS Screw 4PCS Screw 8PCS Screw 11PCS Screw 4PCS 1PCS




" ) INSTALLATION GUIDE

-

STEP 1 - Lay Frame A, Frame B flat, two Center rails insert into Frame A, Frame B, then use M4 Wrench (F) )
to tighten M6X10mm (A) Screws (Do not completely lock for easily installing the Desktop)

This step is pre-installed before shipment, but
need to check if component lacks, and adjust the
frame with center rail to suitable length

@ Avoid screws excessively tightening to
damage the products
Pay attention to the directions of tube and
center rail notch

\_

-

-Place columns into the frames respectively, align the column screw holes with frame screw holes,
STEP 2 and use M4 Wrench (F) to tighten M6X10mm (A) Screws

L
Avoid screws excessively tightening to

Tighten Screw A
k damage the products

STEP 3 -Insert side brackets into Frame A and Frame B respectively, then use M4 Wrench (F) to tighten
M6X14mm (B) Screws

@ Avoid screws excessively tightening to damage the products




" ) INSTALLATION GUIDE

~

-Lay installed desk frame flat, place feet on columns, align the feet holes with column screw holes,
STEP 4 then use M4 Wrench to tighten M6X35mm (C)

@ Avoid screws excessively tightening to damage the products

%
~

-

~

‘Place desktop (bottom) under the installed desk frame, stretch frames, recommend to leave 50mm
from side bracket to desk edge both sides, tighten with ST5X20mm Screw (D)

STEP 5 Install handset and adapter on desk any suitable position, avoid interference of human body and
chair, handset screen face out, fix handset and adapter with St5X16 Wood Screw (E)

Attention: Tighten side
brackets, handset, adapter,

please use your own cross
screwdriver or electric one.

g
K AStretch both sides of frame to adjust the length, range: 1080~1800mm, suitable for different desk widths

J

- As picture shown below, including control box, handset, connection cable and power cord, etc. And
fix the long cables with cable clip (G).

u%

-
STEP 6

Adapter cord
Column cord ~ Connection cable

Cable clip (G) manage cables




Usage and Setting

Setting Up DeskHeight Down Sedentary reminder

Four Memory Height

1. Please make sure no obstacles during up and down.
2.Don’t make the desktop attach to wall.

Set height 1 as the most comfortable height when you sitting; set height 2 as
Su g gestlon the most comfortable height when you standing; set height 3 and height 4 as
what you needed

Abnormal Reset

M 2 A 3 i} a)
When the display shows an Error code: E07-EQ9, (Even after reset,
Press 5s

the display still shows error code) it doesn't work when pressing any button.

Keep pressing the “down” button for 5 seconds, the display shows RST.
Release the button, and press the “down” button again to reset.

Set Highest Limit

Press “M” button, the display shows “s-”, then release the button.
Press the “up” button, after the display flashes,

release the button. Then press “M” button again for 2 seconds,
and when the display shows “999”, the setting is completed.

Set Lowest Limits

Vi 3 4 Ja) Press “M” button, the display shows “s-”,

then release the button; Press the “down” button,

after the display flashes, release the button;

Then press “M” button again for 2 seconds,

and when the display shows“000”, the setting is completed.

[xTn]l
g

Press 2s




[ ) Usage and Setting

Cancel Limits

Press “M” button, the display shows “s-”, then release
the button; Press “M” button again for 2 seconds,

the display shows “555”; the highest and lowest limit
heights would be cancelled at the same time.

M 0 2 A [l v 3 4 0 Pressl “M” button, the display shows “s'-”, 'then kejep
pressing “M” button for 5 seconds again till the display
returns the number , continue to hold the “M” button for
3 seconds till the display shows LOC to complete the
lock setting.

Unlocking

In the “LOC” status, press the “M” button for 8 seconds.
When the “LOC” back to height display, it is unlocked.

Press 2s

Press 8s

Adjust the actual minimum height number

Under the reset status (display flashing RST), press “M” button
for 5 seconds till the display shows height No. and keep flashing;
Then press “up” or “down” button to adjust the height No. to be
same as actual minimum height; then release the button till the
display back to RST and flashing. At last, press “down” button to
finish the reset process, the whole setting is completed.

Press 5s

Switch the One-Touch &

vialsaslo Constant-Touch memory program

Under the reset status (display flashing RST), Press button “1” for 5
Press 5s seconds to switch the memory setting way:

“10.1” means the One-Touch memory program.

“10.2” means the Constant-Touch memory program

At last, press “down” button to finish the reset process, the whole
setting is completed.

~ Switch cm orinch display unit
nfRSTY v s s ]oe

Under the reset status (display flashing RST),
Press button “2” for 5 seconds to switch cm or
inch height No. display;

“10.3” means the unit of height No. is cm.
“10.4” means the unit of height No. is inch.

At last, press “down” button to finish the reset
process, the whole setting is completed.

Cm

Press 5s




[ ) Usage and Setting

Anti-collision sensitivity setting
vis]|as]oe

Under the reset status (display flashing RST),

Press “up”button for 5 seconds to adjust the anti-collision
Press 5s sensitivity;

“10.5”-not sensitive

“10.6”- moderately sensitive

“10.7”-very sensitive

Memory Position Setting

Press “M” button, when display shows “S-”,

choose and press one of memory button and
\ 3 b 9 this position will be remembered; Press “up”
or “down” button to reach the height you
wanted, and repeat the above process to set
other memory heights.

Common Problems and Methods

1. If you have such problems as below, you can try to reset (see the page 9):
a. Abnormal work
b. Display shows RST(reset)
c. Display shows error code (E01-E13), but the motor still can work.

2. If display shows HOT(hot), please power off to rest for 20 minutes.




